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a)
P(x)=8-x5-72-x*+160-x*+128-x? ~768 - X +640;
Q(x)=6-x°-18-x5=12-x*+72-x3-48-x?;
solucio

1 factoritzo els polinomis :
P(x)=8:(x=2)3:(x=5)- (x+2);
Q(x)=6-x2-(x=2)2- (x+2)- (x=1);
Aratrobo el med i el mem:
med=2-(x=2)2- (x+2)
mem=24-x2-(x=2)3-(x+2)-(x=5)-(x=1)

b)
P(x)=10-x*=40-x*=110-x? +660 -x~720;
Q(x)=6-x"=9-x*=33-x7 +18-x;
R(X)=4-x%-8-x? =20 -x+24;

Solucio

1r factoritzo els polinomis :
P(x)=10:(x=3)2- (x=2)- (x+4);

a(x) =S-x-1x—3j-1x+2j-1x—%j;

R(X)=4- (x=3)-(x*+2) - (x=1);
Aratrobo el med i el mem
med=2:(x-3)

mcm=60-x-1x—3}2-1x—2}-1x+2}-1x+4}-1x—%i-1x—1i

<)

P(x; %6 =64-x1+152-x7 =132 x2 +40-x;
Q(x)=8-x"-8-x5~-96-x++224-x7 =128 -x?;
R(x)=2-x5=2-x*=14-x3+26 -x? =12 x;
Solucio

1r factoritzo els polinomis :
P(X)=4:x-(x=1)3-(x=2)- (x+5);

Q(x)=8-x2+ (x=1)*(x=2) 2+ (x+4);
R(x)=2-x-(x=1)2-(x=2)- (x+3);
Aratrobo el med i el mem:

med=2-x: (x=1)-(x=2)
mem=8-x2-(x=1)3-(x=2)2-(x+5)- (x+4)- (x+3)

d)
P(x)=4-x5=64-x*+152-x% =132 -x? +40-x;
Q(x)=8-x°-8-x5-96-x*+224-x* =128 x?;
R(x)=6x+48;

Solucio

1r factoritzo els polinomis :

P(X)=4-X- (x=2) - (x=1)3: (x+5);

Q(x)=8-x2- (x=2)2- (x=1) - (x*+4);

R(X) =6- (x+8);

Aratrobo el med i el mem:

mem=24-x2-(x=2)2-(x=1)%- (x+5)- (x+4)- (x+8)





